Jiří Měska Expressing  $f \in \mathcal{D}$  as a difference of two positive functions  $f_1, f_2 \in \mathcal{D}$ 

Časopis pro pěstování matematiky, Vol. 103 (1978), No. 1, 62--66

Persistent URL: http://dml.cz/dmlcz/117971

## Terms of use:

© Institute of Mathematics AS CR, 1978

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

### Časopis pro pěstování matematiky, roč. 103 (1978), Praha

# EXPRESSING $f \in \mathcal{D}$ AS A DIFFERENCE OF TWO POSITIVE FUNCTIONS $f_1, f_2 \in \mathcal{D}$

### JIŘÍ MĚSKA, Praha

### (Received March 31, 1977)

The following unsolved problem was published in American Mathematical Monthly (7, 1975)\*). Is it possible to express every function

 $f \in \mathcal{D} = \{ f \in C^{\infty}(\mathbf{E}_1); \ f(x) = 0 \text{ for each } x \in (-\infty, 0) \cup \langle 1, \infty \rangle \}$ 

as a difference of two positive functions  $f_1, f_2 \in \mathcal{D}$ ?

We shall prove here that the answer is affirmative. Let  $E_1$  denote the space of real numbers,  $C^{\infty}(K) = \{f: K \to E_1, f \text{ have continuous derivatives of all orders}\}$ , where  $K = E_1$  or  $K = \langle 0, 1 \rangle$ .

Let us denote by h an arbitrary function satisfying the following conditions:

- 1.  $h \in \mathcal{D}$ ,
- 2. h(x) = h(1 x) for each  $x \in \langle 0, 1 \rangle$ ,
- 3. h(x) > 0 for each  $x \in (0, 1)$ ,
- 4. h is increasing on  $\langle 0, \frac{1}{2} \rangle$ .

(For example, take the function  $h(x) = e^{-1/x} \cdot e^{1/(x-1)}$  for  $x \in (0, 1)$ , h(x) = 0 for  $x \in E_1 - (0, 1)$ .)

By  $h_{n_1, q, q_2}$  we shall denote an arbitrary function which has the following properties:

- 1.  $h_{\varepsilon_1,a,\varepsilon_2} \in C^{\infty}(E_1)$ ,
- 2.  $h_{\varepsilon_1, \sigma, \varepsilon_2}(x) = 1$  for each  $x \in (-\infty, \varepsilon_1) \cup \langle \varepsilon_2, \infty \rangle$ ,
- 3.  $h_{a_1,a_2}^{(i)}(a) = 0$  for each  $i \in N$ ,
- 4.  $h_{\varepsilon_1, a, \varepsilon_2}$  is decreasing (increasing) on  $\langle \varepsilon_1, a \rangle$  (on  $\langle a, \varepsilon_2 \rangle$ ).

<sup>\*)</sup> In the meantime a different solution of this problem was published in American Mathematical Monthly (3, 1977).

STUDENTS' RESEARCH ACTIVITY AT THE FACULTY OF MATHEMATICS AND PHYSICS, CHARLES UNIVERSITY. Awarded the 4th prize in the National Students' Research Work Competition, section Mathematical Analysis, in the year 1977. Scientific adviser: Professor V. SOUČEK.

**Lemma 1.** (On joining of functions.) Let  $a \in (0, 1)$ ,  $g_1 \in C^{\infty} \langle 0, a \rangle$ ,  $g_1 \ge 0$ ,  $g_2 \in C^{\infty} \langle a, 1 \rangle$ ,  $g_2 \ge 0$  and  $0 \le \delta_1 < a < \delta_2 \le 1$ . Then there exists a function  $g \in C^{\infty} \langle 0, 1 \rangle$  such that:

- (1)  $g \ge g_1$  on  $\langle 0, a \rangle$ ,  $g \ge g_2$  on  $\langle a, 1 \rangle$ ,
- (2)  $g = g_1$  on  $\langle 0, \delta_1 \rangle$ ,  $g = g_2$  on  $\langle \delta_2, 1 \rangle$ .

Proof. Choose  $\varepsilon_1$ ,  $\varepsilon_2$  such that

 $0 \leq \delta_1 < \varepsilon_1 < a < \varepsilon_2 < \delta_2 \leq 1$  holds.

Define

 $\tilde{g}(x) = g_1(x)$  for each  $x \in \langle 0, a \rangle$ , =  $g_2(x)$  for each  $x \in \langle a, 1 \rangle$ 

and put  $d(x) = \tilde{g}(x) h_{\epsilon_1, a, \epsilon_2}(x)$ .

We show by mathematical induction that  $d \in C^{\infty}(0, 1)$ . The "bad" point is *a*. The first step is easy. Now suppose that  $d \in C^{n-1}(0, 1)$ . We have

$$\lim_{x \to a} \mathrm{d}^{(n)}(x) = \lim_{x \to a} \sum_{i=1}^n \binom{n}{i} \, \tilde{g}^{(i)}(x) \, \mathrm{h}^{(n-i)}_{\varepsilon_1, a, \varepsilon_2}(x) = 0 \, .$$

According to the well known theorem  $d \in C^n \langle 0, 1 \rangle$ . Let us denote

$$\widetilde{\mathbf{h}}(x) = \mathbf{h}\left(\frac{x-\delta_1}{\delta_2-\delta_1}\right), \quad n = \min_{x \in \langle \varepsilon_1, \varepsilon_2 \rangle} \widetilde{\mathbf{h}}(x)$$

 $m = \max_{x \in \langle \varepsilon_1, \varepsilon_2 \rangle} \tilde{g}(x) \text{ and finally, put } g(x) = (d(x) + 1) ((m/n) \tilde{h}(x) + 1) - 1. \text{ Clearly} \\ g \in C^{\infty} \langle 0, 1 \rangle \text{ and } g(x) = d(x) = \tilde{g}(x) \text{ for } x \in \langle 0, 1 \rangle - \langle \delta_1, \delta_2 \rangle. \text{ If } x \in \langle \delta_1, \delta_2 \rangle - \langle \varepsilon_1, \varepsilon_2 \rangle \text{ then } ((m/n) h(x) + 1) \ge 1 \text{ and } g \ge d = \tilde{g}. \text{ If } x \in \langle \varepsilon_1, \varepsilon_2 \rangle \text{ then } ((m/n) . . . h(x) + 1) \ge m + 1 \text{ and } g \ge m \ge \tilde{g}, \text{ hence the proof is complete.}$ 

**Lemma 2.** Let  $f(x) \in \mathcal{D}$ , then  $f(x)/x^m \in \mathcal{D}$  for every  $m \in N$ .

Proof. Using the well known formula we have

$$\left(\frac{f(x)}{x^{m}}\right)^{(n)} = \sum_{i=0}^{n} {n \choose i} f^{(n-i)}(x) \left(\frac{1}{x^{m}}\right)^{(i)} =$$
$$= \sum_{i=0}^{n} {n \choose i} (-1)^{i} f^{(n-i)}(x) \frac{m(m+1)\dots(m+i-1)}{x^{m+i}}.$$

We see that to prove  $\lim_{x\to 0} (f(x)/x^m)^{(n)} = 0$  it is sufficient to show that  $\lim_{x\to 0} f(x)/x^k = 0$  for all  $f \in \mathcal{D}$ ,  $k \in N$ .

63

However,

$$\lim_{x \to 0^+} \left| \frac{f(x)}{x^k} \right| = \lim_{x \to 0^+} \left| \frac{f(x) - f(0)}{x^k} \right| = \lim_{x \to 0^+} \left| \frac{x f'(\xi_x^1)}{x^k} \right| \quad (\text{where } 0 < \xi_x^1 < x) =$$
$$= \lim_{x \to 0^+} \left| \frac{x (f'(\xi_x^1) - f'(0))}{x^k} \right| = \lim_{x \to 0^+} \left| \frac{x \xi_x^1 f''(\xi_x^2)}{x^k} \right| \quad (\text{where } 0 < \xi_x^2 < \xi_x^1 < x) =$$
$$= \dots = \lim_{x \to 0^+} \left| \frac{x \xi_x^1 \dots \xi_x^{k-1} f^{(k)}(\xi_x^k)}{x^k} \right| \quad (\text{where } 0 < \xi_x^k < \dots < \xi_x^1 < x) \le$$
$$\leq \lim_{x \to 0^+} \left| f^{(k)}(\xi_x^k) \right| = 0.$$

**Lemma 3.** There exists a family of segments  $\{U_n\}_{n \in \mathbb{N}}$  satisfying the following conditions:

- 1.  $\bigcup_{n\in N} U_n \subset (0, 1).$
- 2. Denote

$$U_n = \langle a_n, b_n \rangle, \quad \varepsilon_n = b_n - a_n,$$
  
$$U'_n = \langle a'_n, b'_n \rangle = \langle a_n + \varepsilon_n | 3, \quad b_n - \varepsilon_n | 3 \rangle.$$

Then there exists  $\delta > 0$  such that  $(0, \delta) \subset \bigcup_{n \in \mathbb{N}} U'_n$ .

- 3. There exists  $k \in N$  such that for each  $x \in (0, \delta)$  it holds card  $\{n, x \in U_n\} \leq k$
- 4. Define  $\Phi(x) = \sup \{ y \in (0, 1), y \in \bigcup_{\substack{n \in N \\ x \in U_n}} U_n \}$ . Then  $\lim_{x \to 0} \Phi(x) = 0$ .
- 5. There exists  $l \in N$  such that for every  $n \in N$  it holds

$$\frac{1}{\varepsilon_n} \leq \left(\frac{1}{b_n}\right)^l.$$

Proof. Put  $U'_n = \langle 1/(n+1), 1/n \rangle$  for  $n \in N$ ,  $a'_n = 1/(n+1)$ ,  $b'_n = 1/n$ ,

$$a_n = \frac{n-1}{n(n+1)}, \quad b_n = \frac{n+2}{n(n+1)}, \quad \varepsilon_n = \frac{3}{n(n+1)}.$$

First we find a suitable number  $n_0 \in N$  such that the sequences  $\{a_n\}, \{b_n\}$  are for  $n > n_0$  decreasing. It is sufficient to investigate the functions (x - 1)/x(x + 1) and (x + 2)/x(x + 1) for  $x \to \infty$ . Further, let  $n_1$  denote a positive integer such that for all  $n > n_1$  it holds

(\*) 
$$\frac{1}{\varepsilon_n} = \frac{n(n+1)}{3} \leq \left(\frac{n(n+1)}{n+2}\right)^3 = \left(\frac{1}{b_n}\right)^3.$$

64

For the family  $\{U_n\}$  we take the set of segments  $\langle a_n, b_n \rangle$ , where  $n \ge \max(n_0, n_1)$ . The conditions 1 and 2 are obviously satisfied. The inequality (\*) implies the property 5 with l = 3.

For fixed  $x \in (0, \delta)$  we shall study the set

$$N(x) = \{n \in N, n \ge \max(n_0, n_1), a_n \le x \le b_n\}.$$

This requires to solve the following inequalities.

$$\frac{n-1}{n(n+1)} \leq x$$

$$m_{1,2} = \frac{(1-x) \pm \sqrt{[(x-1)^2 - 4x]}}{2x}$$

$$x \leq m_1 \text{ or } x \geq m_2$$

$$m_{1,2}' = \frac{(1-x) \pm \sqrt{[(x-1)^2 + 8x]}}{2x}$$

$$m_{1,2}' = \frac{(1-x) \pm \sqrt{[(x-1)^2 + 8x]}}{2x}$$

$$m_{1}' \leq x \leq m_{2}'$$

We show that there does not exist  $n \in N(x)$  such that  $m'_1 \leq n \leq m_1$ . Assume the contrary. Denote  $i \in N(x)$ ,  $m'_1 \leq i \leq m_1$  and choose  $j, k \in N$  such that  $m_1 < j < m_2$  and  $m_2 \leq k \leq m'_2$ . This is possible since

(\*\*) 
$$\xi(x) = m'_2 - m_2 = \frac{\sqrt{[(x-1)^2 + 8x]} - \sqrt{[(x-1)^2 - 4x]}}{2x} = \frac{1}{2x}$$

$$= \frac{6}{\sqrt{[(x-1)^2 + 8x]} + \sqrt{[(x-1)^2 - 4x]}} \to 3 \quad (x \to 0)$$

and

$$m_2 - m_1 = \frac{\sqrt{[(x-1)^2 - 4x]}}{x} \to \infty \quad (x \to 0)$$

We obtain  $x \in U_i \cap U_k$  &  $x \notin U_j$  together with i < j < k and this is contradiction since  $\{a_n\}, \{b_n\}$  are decreasing. It follows from (\*\*) that there exists a suitable number  $\eta \in (0, 1)$  such that  $\xi(x) \leq 4$  for each  $x \in (0, \eta)$  and this proves the property 3.

Suppose now that  $x \in (0, \eta)$  is a fixed point and investigate the function

$$m(x) = \min \{n, (n-1)/n(n+1) = a_n \leq x, n \geq \max (n_0, n_1)\}.$$

Since  $m_1 < \max(n_0, n_1)$  for each  $x \in (0, \eta)$  we obtain  $m(x) = [m_2] + 1$ .

$$\Phi(x) = \frac{m(x) + 2}{m(x)(m(x) + 1)} = \frac{\lfloor m_2 \rfloor + 3}{(\lfloor m_2 \rfloor + 1)(\lfloor m_2 \rfloor + 2)} \to 0 \quad (x \to 0)$$

while  $[m_2] \to \infty (x \to 0)$  and the proof of the condition 4 is complete.

**Theorem.** For every  $f \in \mathcal{D}$  there exist functions  $f_1, f_2 \in \mathcal{D}, f_1 \ge 0, f_2 \ge 0$  such that  $f = f_1 - f_2$ . We can also say that  $\mathcal{D}$  is generated as a vector space by its positive functions.

Proof. Let  $f \in \mathcal{D}$  be an arbitrary function. If we find  $g \in \mathcal{D}$ ,  $g \ge 0$ ,  $g \ge f$  then we can write f = g - (g - f),  $g = f_1$ ,  $g - f = f_2$ . To prove our theorem we show that there exist  $\delta > 0$  and  $\tilde{g} \in \mathcal{D}$  such that  $\tilde{g} \in \mathcal{D}$ ,  $\tilde{g} \ge 0$ ,  $\tilde{g} \ge f$  on  $(-\infty, \delta)$ . Since the space  $\mathcal{D}$  has the same behavior at 0 and 1 we complete the proof by means of the joining lemma. Let  $\{U_n\}_{n\in\mathbb{N}}$  be the family of segments satisfying the conditions of the preceding lemma and h our standard function. For all  $n \in N$  we define

$$\mathbf{g}_n^{(\mathbf{x})} = \mathbf{h}\left(\frac{\mathbf{x}-a_n}{\varepsilon_n}\right)\frac{\max_{\mathbf{x}\in U_n'}|\mathbf{f}(\mathbf{x})|}{\mathbf{h}(\frac{1}{3})} \ .$$

Clearly  $g_n \in \mathcal{D}$ . It will be useful to express

$$\mathbf{g}_n^{(i)}(x) = \left(\frac{1}{\varepsilon_n}\right)^i \mathbf{h}^{(i)} \left(\frac{x-a_n}{\varepsilon_m}\right) \frac{\max_{\mathbf{x} \in U_n'} |\mathbf{f}(x)|}{\mathbf{h}(\frac{1}{3})}$$

and by Lemma 3 we have

$$|\mathbf{g}_{n}^{(i)}(x)| \leq \frac{\|\mathbf{h}^{(i)}\|}{\mathbf{h}(\frac{1}{3})} \frac{|\mathbf{f}(x_{n})|}{b_{n}^{i,l}} \leq \frac{\|\mathbf{h}^{(i)}\|}{\mathbf{h}(\frac{1}{3})} \frac{|\mathbf{f}(x_{n})|}{x_{n}^{i,l}}$$

where  $\|\mathbf{h}^{(i)}\| = \sup_{x \in \langle 0,1 \rangle} |\mathbf{h}^{(i)}(x)|$ ,  $|\mathbf{f}(x_n)| = \max_{x \in U_n'} |\mathbf{f}(x)|$ . Put  $\tilde{g} = f + \sum_{n \in N} g_n$ . By the condition 3 of Lemma 3  $\tilde{g}(x) < \infty$  for all  $x \in E_1$ . It is easy to see that  $\tilde{g} \ge 0$  and  $\tilde{g} \ge f$  on  $(0, \delta)$  where  $\delta$  is the same as in Lemma 3. The proof will be complete if we prove that  $\tilde{g}_{+}^{(i)}(0) = 0$  for all  $n \in N$ . But

$$\begin{aligned} |\tilde{\mathbf{g}}^{(i)}(x)| &\leq |\mathbf{f}^{(i)}(x)| + \sum_{\substack{n \in N \\ x \in U_n}} |\mathbf{g}_n^{(i)}(x)| \leq \\ &\leq |\mathbf{f}^{(i)}(x)| + \frac{\|\mathbf{h}^{(i)}\|}{\mathbf{h}(\frac{1}{3})} \sum_{\substack{n \in N \\ x \in U_n}} \frac{|\mathbf{f}(x_n)|}{x_n^{i,l}} \to 0 \quad (x \to 0) \end{aligned}$$

۶,

by Lemma 3 (conditions 3 and 4) and Lemma 5.

Author's address: 186 00 Praha 8 - Karlín, Sokolovská 83 (Matematicko-fyzikální fakulta UK)